## ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: STOCK BRICKS (7 MPA) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R2 543,76	80,00	10	10	100,00

ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: STOCK BRICKS (7 MPA) - DELIVERED						
Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100	
PNB Civils	R2 945,00	80,00	10	10	100,00	

#### ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: FACE BRICK - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R2 700,00	80,00	10	10	100,00

#### ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: FACE BRICK NATURAL - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 060,00	80,00	10	10	100,00

### ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: FACE BRICK COLOUR - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 092,00	80,00	10	10	100,00

### ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: FACE BRICK COLOUR - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 451,00	80,00	10	10	100,00

ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: ROCK FACE BRICK - COLLECTED
---

Total for Rates	D = !4=	B-BBEE	Specific	T-4-1 D-1-4-

Tenderer	(All Applicable Taxes Included)	Points 80	Points 10	Goals Points 10	10tai Points 100
Mobicast Building Supplies (Pty) Ltd	R2 798,00	80,00	10	10	100,00

#### ITEM: BRICKS AND PAVERS: CONCRETE STOCK BRICKS: ROCK FACE BRICK - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 483,00	80,00	10	10	100,00

### ITEM: BRICKS AND PAVERS: 140mm BUILDING BLOCKS (5 MPA or EQUIVALENT) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Taurus Exclusives (Pty) Ltd	R5 820,00	80,00	10	2	92,00

### ITEM: BRICKS AND PAVERS: 140mm BUILDING BLOCKS (5 MPA or EQUAVALENT) - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Taurus Exclusives (Pty) Ltd	R8 320,00	80,00	10	2	92,00

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 50mm RED PAVER - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R4 600,00	80,00	10	4	94,00

#### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 50mm RED PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 50mm YELLOW PAVER - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R4 600,00	76,79	10	4	90,79

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 50mm YELLOW PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
----------	---	--------------	------------------------	--------------------------------	---------------------

WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00
	•	•	·		•
ITEM: BRICKS AND PAVE	EDG. CLAV DAVING	PRICKS, 60	mm DED DA	VED COL	LECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R4 600,00	80,00	10	4	94,00

## ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 60mm RED PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00

#### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 60mm YELLOW PAVER - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R4 600,00	80,00	10	4	94,00

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 60mm YELLOW PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00

#### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS - 80mm RED PAVER - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R5 400,00	80,00	10	4	94,00

#### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS:80mm RED PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 80mm YELLOW PAVER - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R5 400,00	80,00	10	4	94,00

### ITEM: BRICKS AND PAVERS: CLAY PAVING BRICKS: 80mm YELLOW PAVER - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
WLF Contractors (Pty) Ltd	R6 600,00	80,00	10	4	94,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - BEVEL PAVERS 50 MM - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R2 645,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - BEVEL PAVERS 50 MM - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
<b>Buffelsdrift Clay Mine cc</b>	R2 990,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - BEVEL PAVERS 60 MM - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 479,46	80,00	10	10	100,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - BEVEL PAVERS 60 MM - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R3 836,10	80,00	10	10	100,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING: 60 MM - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R3 180,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING 60 MM - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R3 495,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING: 80mm (35 MPA) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R4 150,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING: 80MM (35 MPA) - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R4 540,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING 80mm (45 MPA) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R4 845,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (NATURAL) - INTERLOCKING 80mm (45 MPA) - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R5 258,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - BEVEL PAVERS 50MM - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R2 885,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - BEVEL PAVER 50MM - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R3 245,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 60mm - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R3 370,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 60mm - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R3 785,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 80mm (35 MPA) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R4 550,00	80,00	9	6	95,00

## ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 80mm (35 MPA) - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Buffelsdrift Clay Mine cc	R4 920,00	80,00	9	6	95,00

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 80mm (45 MPA) - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R5 527,97	75,68	10	10	95,68

# ITEM: BRICKS AND PAVERS: CONCRETE PAVING BRICKS: PAVING BRICK (COLOUR) - INTERLOCKING 80mm (45 MPA) - DELIVERED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R5 952,08	80,00	10	10	100,00

### ITEM: BRICKS AND PAVERS: COBBLE PAVERS - COLLECTED

Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R2 660,00	80,00	10	10	100,00

Total for Rates	 B-BBEE	Specific	

Tenderer	(All Applicable Taxes Included)	Points 80	Points 10	Goals Points 10	Total Points 100
Mobicast Building Supplies (Pty) Ltd	R2 840,00	80,00	10	10	100,00

ITEM: BRICKS AND PAVERS: 440 x 440 x PAVERS SLABS - COLLECTED						
Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100	
WLF Contractors (Pty) Ltd	R5 800,00	80,00	10	4	94,00	

ITEM: BRICKS AND PAVERS: 440 x 440 x PAVERS SLABS - DELIVERED							
Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100		
WLF Contractors (Pty) Ltd	R7 300,00	80,00	10	4	94,00		

ITEM: BRICKS AND PAVERS: 660 x 660 x PAVERS SLABS - COLLECTED							
Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100		
WLF Contractors (Pty) Ltd	R5 800,00	80,00	10	4	94,00		

ITEM: BRICKS AND PAVERS: 660 x 660 x PAVERS SLABS - DELIVERED							
Tenderer	Total for Rates (All Applicable Taxes Included)	Points 80	B-BBEE Points 10	Specific Goals Points 10	Total Points 100		
WLF Contractors (Pty) Ltd	R7 300,00	80,00	10	4	94,00		